
(a) 2(n(x-3) = 3 (b) logz (2x+3) = 10gz(X+1) +2 inverse logzX is 2*

In(x-3) = 2 we need to isolate 210gz(2x+3)
= 210g,(x +1)+ 2

must raise EVERYTHING

((n(x -3)
=

32
X to solve 210gz12x+3) 10g,

IX + ! 2 ya+ b
= x9xb

3/2
X- 3 = 2 ein(x)= X 2x +3 = 22(x+1) aloga(x) = X

X = 232- 3 2x +3 = 4(x+1)

2x +3 = 4x + 4

- 1 = 2x

- = X

7 ·
11 ,7)

(a) E = # ratio for I dog year 6 -

H = 7 D per7 human years 5-

4-

Dog - 2345
3-

Human 7 14 21 2835 linear function
2

-

Iv

! 3

(i)Given D =1
.
Find H . (ii)Given H=21

.
Find D.

H = 16(n(1)+ 31 21= 16(n(D) +31

= 16 . (0) + 31 - 10 = 16(n(D)
= 31 - = In)D)

= In (D)
1 dog year : 31 human years e-58 = gin(D)

eS18 = D

21 human years=0 .535 dog years



the initial amount to double

the initial amount to be cut in half

Step 1 : Set up Alt)
= Ajbt Step 2: Find viability

half life = 14 hours = > (14
,
50) not viable after time t s.

t.
Als) = 1

- +114initial value = 100 % => 10
,

100) 1= 100(2)
I

= Au = 100 100 I (2)
- 4/14

find b using (14
,
50) logzlito) = 10gz(2)-4114

50 = A((4) = 1006' logalo = - +,4

2 = b 4 - 410g,(100) = t

(2)" = b - 26 . 575 = t

+ = 93
.01

A(t) = 100(z" )t
= 100

*4

= 100 . (2)
- 4/14

(a) P= 1000, v=0.05,n=365 (b) 4= 1000
,
v=0.05

,n
= 52

Alt) = 1000(1+ 05365 Alt) = 1000 (1+ 00552

All0) = 1000(I+5 1365110
Allo) = 1000(I+ 805152 . 10

= 1648 . 4 = 1648.33

(c) P= 1000
,
v= 0.05

, n= 12 (c) P= 1000
, v = 0.

05
,
n= 4

Alt)= 1000 (1+ /12t Alt) = 1000 (1 +
0:5147

All0)= 1000(1+
0;5) 12. 10

Allo) = 100011 + 0
:35,4. 10

= 1647 . 01



(a) P= 1000, v = 0
.
05 (c) Principle'sdoubling time

Alt)= 100000 .05t

Doubling time is the amount
of time it takes to double

(b)doubling time : 100020.05t= 2000 the initial investment i.e.

10002005t = 2000 2P= Pert
20.05t

= 2 z= ert

In(e0.05t) = In(2) the principal cancelsout
0.
05t = In(2) proving that it does notIn(2)

t =
0.05 change doubling time

= 13 .86 OR 13years 10months

Goal: triple when t=zo

(a) compound quarterly (b) compound continuously
3P= P(1+(4.20 34 = Perzo

3 = (1+ 180 3 = ezor

3"80 = It i In(3) = Inlezor)

3801= In(3) = zor

4(3"80- 1) = v In(3)
= v

20

0 . 0553 = v 0 .
0549 = r

5.53% 55. 49 %


